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Name Date

Graph Stories Questions 1-2 (SAB pp. 563-564)

. Balloon Ride I. A. Stories will vary. Possible response: The
N graph shows that the balloon goes up
between 12:00 and 1:10 when it reaches
950 ft. The balloon goes up fast at first,
then it levels off. Then the balloon starts to
come down at about 1:30.
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B. The points do not form a line, but they do
form a pattern. They form a curve where
the points go up and then down.

SE8E5E8E888E8 G C. Yes, if you follow the pattern of the curve,
_ _ ‘ then you can predict that the balloon will be
A. Using the data, tell a story about the height of the balloon during a
balloon ride. between 400 and 450 ft.

D. About 725 ft.

B. Do the points form a line? If yes, draw a best-fit line on the graph.
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If no, describe the shape of the graph. . . .
2. A. Stories will vary. Possible response: The
C. Using this data, can you make a reasonable prediction about the height graph ShOWS that the COSt Of COffee Went up
of the balloon at 12:15? Why or why not?
and down between 1992 and 2010. The cost
D. If possible, predict the height of the balloon at 1:45. went up until 1997 when it decreased until

2004 when it started increasing again.
There are three points that seem out of
place, so it may be that something
happened to the coffee crop in 1994, 1995,
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and 1997.
Name Pate B. The points do not form a line. Possible
2 Gost of Ground Goffee response: The points go up and down like a
b roller coaster.
i C. Answers will vary, but students must justify
§ ggg their answers. Possible response: The cost
§ 2o of coffee will probably be between the
i% a0 points for 2007 and 2010, so an estimate of
L about $3.90 would make sense. Or, students
- might say that the cost of coffee went up
585388088 EEEEEERBBEEREEE and down so much, it would be hard to
A. Lng;rz)g the data, tell a story ab‘:::; the cost of ground coffee from 1992 to make a reasonable prediCtion'

D. Answers will vary, but students must justify
their answers. Students may say that the
cost will keep going up as it had since
about 2004 and predict that the cost of
coffee would be between $4.20 and $4.40.
Or, students may say that since the cost

B. Do the points from a line? If yes, draw a best-fit line on the graph. If no,
describe the shape of the graph.

C. Can you make a reasonable estimate for the cost of a pound of ground
coffee in the year 2008? Explain.
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D. If possible, predict the cost of 1 pound of ground coffee in the year Varled SO muCh, lt Wlll be hal‘d tO pl‘edlct
2015. Show or tell how you decide on your answer. .
the cost in 2015.
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